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ﬁ%&g TREOBHOEILADKRES TREOHBESILIOKRES TEREOBHOEILADKRES TRFEOHBEILNDOKRES
= X 4 BE | T/ LDMER | hOKRES X 4 'Fﬁﬁ?ﬁ\:od)ﬂ@lz &S | hnKE X 4 B | LinhsOkE NADKRES R 4 Ltimhootts | & NADKRES
(m) (m) (kN/m) EE B (m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/mi)
’ 100kN/mM#%# 8% % -l -~ = -|3mEBZZ| - ~ - - —| 100kN/M%E#B 22 = -~ = -|3mEBZS -~ = = =
Zzns 1.00/0.00 ~ 713 90.56| #hList |000 ~ 7.13] 197 10.34 Zh st 1.00f 500 ~ 993 90.56| #h iyt | 500 ~ 993| 197 10.34
2 100kN/m%#8 2% 1.00| 000 ~ 1.37 120.72|3m%E#ZB| - ~ = - —| 100kN/M%#8 2% 1.00[ 1056 ~ 14.92 120.72|3m%E#BZ% -~ = = =
Zzns 1.00[1.37 ~ 9.15 100.00] #hLlst | 000 ~ 9.15| 223 11.67 Zh st 1.00| 500 ~ 1056 100.00| Zhlust | 500 ~ 14.92| 2.23 11.67
1 100kN/m%#8 2% 1.00| 000 ~ 251 139.33|3m%#ZB| - ~ = - —| 100kN/M%#8 2% 1.00[ 1053 ~ 2165 139.33|3m%# 2% -~ = = =
Zzns 1.00] 251 ~ 10.29 100.00] #HhLlst [0.00 ~ 10.29] 2.69 14.12 ZhLst 1.00| 500 ~ 1053 100.00| #h U4t | 500 ~ 21.65| 2.69 14.12
4 100kN/m%#8 2% 1.00| 000 ~ 2.86 145.36|3m%E#ZB| - ~ = - —| 100kN/M%#8 2% 1.00| 1091 ~ 2423 145.36|3m%E# x5 -~ = = =
zns 1.00| 2.86 ~ 10.65 100.00|] ZhLlst | 000 ~ 1065 2.89 15.14 Zhst 1.00| 5.00 ~ 1091 100.00| #hlust | 500 ~ 24.23| 2.89 15.14
5 100kN/mM#%#BZ % 1.00{0.00 ~ 2.77 143.74|3m%EZ B - ~ = = —| 100kN/M%E#B 22 1.00| 11.26 ~ 24.13 143.74|3m%HBZ% -~ = = =
s 1.00| 2.77 ~ 1055 100.00|] ZhLlst | 000 ~ 1055 2.96 15.51 Zh st 1.00| 500 ~ 11.26 100.00| #hlust | 500 ~ 24.13| 2.96 15.51
6 100kN/m%#8 2% 1.00| 000 ~ 3.37 154.16|3m%# %% 000 ~ 057 3.32 17.44] 100kN/mM%E#B %% 1.00| 10.78 ~ 30.08 154.16|3m%#E% 5| 25.00 ~ 30.08| 3.32 17.44
zns 1.00/ 3.37 ~ 11.16 100.00|] #hList | 057 ~ 11.16] 3.00 15.73 Zhst 1.00| 5.00 ~ 10.78 100.00| #hlust | 5.00 ~ 25.00| 3.00 15.73
7 100kN/m%#8 2% 1.00/ 000 ~ 3.19 151.01|3m#%#2%| 000 ~ 0.18| 3.09 16.22| 100kN/M%#B %% 1.00 1057 ~ 31.84 151.01|3m%#8% 5| 30.00 ~ 31.84| 3.09 16.22
zns 1.00/3.19 ~ 10.98 100.00| #hLlst [0.18 ~ 10.98] 3.00 15.73 Zhst 1.00| 5.00 ~ 1057 100.00| #hlust | 5.00 ~ 30.00| 3.00 15.73
8 100kN/mM#%#BZ % 1.00/ 0.00 ~ 276 14352|3mZ#BRD| - ~ = = —| 100kN/M%E#B 22 1.00| 11.01 ~ 32.23 143.52|3m%HBZ% -~ = = =
s 1.00[ 2.76 ~ 1054 100.00|] ZhLlst | 000 ~ 1054 2.96 15.51 Zh st 1.00| 5.00 ~ 11.01 100.00| #hlust | 500 ~ 32.23| 2.96 15.51
8 100kN/m%#8 2% 1.00| 000 ~ 251 139.38|3m%E#x 3| - ~ = = —| 100kN/M%# 2% 1.00( 11.44 ~ 33.99 139.38|3m%E#x % -~ = = =
zhs 1.00| 251 ~ 10.30 100.00|] ZhLlst | 000 ~ 1030 2.89 15.17 Zhst 1.00| 500 ~ 11.44 100.00] #hLlst | 500 ~ 3399 2.89 15.17
10 100kN/mZ#B %% 1.00| 000 ~ 2.93 146.53|3m%EHB2 5| - ~ = = —| 100kN/M%# 2% 1.00| 10.87 ~ 34.04 146.53|3mZE#EZ 5% -~ = = =
zhs 1.00/ 2.93 ~ 10.72 100.00|] ZhLlst 1000 ~ 1072 2.99 15.66 Zhst 1.00| 5.00 ~ 1087 100.00| Zhkust | 500 ~ 34.04| 2.99 15.66
» 100kN/mMZ#B %% 1.00| 000 ~ 3.14 150.19|3m%#x%[ 000 ~ 0.09| 3.05 15.98| 100kN/mM%#B% % 1.00| 10.66 ~ 34.11 150.19|3m%#8 % 5| 30.00 ~ 34.11| 3.05 15.98
zhs 1.00| 3.14 ~ 10.93 100.00| ZhList 1009 ~ 10.93| 3.00 15.73 Zhst 1.00| 5.00 ~ 10.66 100.00| Zh kst | 5.00 ~ 30.00| 3.00 15.73
» 100kN/mZ#B %% 1.00| 000 ~ 357 157.75|3m%#x%[ 000 ~ 057 3.33 17.44] 100kN/M%#BZ % 1.00| 10.78 ~ 33.84 157.75|3m#%#82%| 25.00 ~ 33.84| 3.33 17.44
zhs 1.00| 357 ~ 11.36 100.00|] #hList | 057 ~ 11.36] 3.00 15.73 Zhst 1.00| 5.00 ~ 10.78 100.00| Zh kst | 5.00 ~ 25.00| 3.00 15.73
o 100kN/mZ#B %% 1.00| 000 ~ 3.28 152.63|3m%#x%( 000 ~ 021 3.11 16.30| 100kN/mM%#BZ% % 1.00| 1056 ~ 33.28 152.63|3m#%#E% 5| 25.00 ~ 33.28| 3.11 16.30
zhs 1.00] 3.28 ~ 11.07 100.00|] #hList 1021 ~ 11.07| 3.00 15.73 Zhst 1.00| 5.00 ~ 1056 100.00| Zh kst | 5.00 ~ 25.00| 3.00 15.73
14 100kN/mM#%EH#BZ.% 1.00/ 000 ~ 3.15 150.35|3m#%#82%]| 000 ~ 0.11| 3.06 16.02| 100kN/ Mm%z 5 1.00| 10.64 ~ 3355 150.35|3m#%#82 5| 30.00 ~ 33.55| 3.06 16.02
Zhust 1.00| 3.15 ~ 10.94 100.00| #xLlst [0.11 ~ 10.94| 3.00 15.73 ZFhst 1.00| 500 ~ 1064 100.00| #h kst | 5.00 ~ 30.00| 3.00 15.73
. 100kN/mM#%EH#BZ.% 1.00| 000 ~ 2.76 14351|3m%E#B25%| - ~ = = —| 100kN/M%# 2% 1.00| 11.06 ~ 33.34 143.51|3m%E#BZ% -~ = = =
Zhst 1.00| 2.76 ~ 1054 100.00| #HhList | 000 ~ 1054| 295 15.47 Zh st 1.00| 5.00 ~ 11.06 100.00] #hLlst | 500 ~ 33.34| 295 15.47
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5 X 4 .(Er,né)t 'Flﬁﬁﬁ(z)d)ﬂﬁﬁﬁ jj(:')\lj/knié X 4 ‘Fmﬁgﬁzgikfr .z,n? jj(gl)\;tf)é X 4 .Z,na)t J:m?fl(;)@ttﬁ jj(gifrf)é R 4 J:Jﬁ?f)(z)o)ttm .(—r,na)k jj(giacmé)é
16 100kN/mM#%# 8% % 1.00/ 000 ~ 245 138.35|3mZEBZB| - ~ = = —| 100kN/i%i#8 % % 100 11.51 ~ 33.17 138.35|3m%#BZ% -~ = = =
ZThLS 1.00| 2.45 ~ 10.24 100.00] ZHlist | 0.00 ~ 10.24] 2.89 1513 ZhLlst 1.00] 500 ~ 1151 100.00( Zhlist | 500 ~ 33.17| 2.89 15.13
17 100kN/mM#%#BZ % 1.00/ 000 ~ 1.34 120.33|3mZEBZB| - ~ = = —| 100kN/i%i#8 % % 1.00| 1258 ~ 21.20 120.33(3m%i#B% % -~ = = =
ZThLS 1.00/1.34 ~ 913 100.00] Zh st | 000 ~ 9.13| 240 12.57 LSt 1.00] 500 ~ 1258 100.00( Zhlist | 500 ~ 21.20| 2.40 1257
18 100kN/mM#%#BZ % 1.00/ 000 ~ 0.19 102.74|3mZEBZB| - ~ = = —| 100kN/iZi#8 % % 1.00/ 11.90 ~ 1258 102.74|3m%#B% % -~ = = =
ZThLS 1.00/ 019 ~ 797 100.00] #hlist | 000 ~ 797 1.97 10.34 LSt 1.00] 500 ~ 11.90 100.00( Zh it | 500 ~ 12.58| 1.97 10.34
19 100kN/mM#%# 8% % -l -~ = -|3mEBZZ| - ~ - - -| 100kN/mZ#8 x5 = -~ = -|3mEBZS -~ = = =
Zn Lt 1.00{ 0.00 ~ 541 6744 ZnList 1000 ~ 541| 1.83 9.58 Zh s 1.00f 500 ~ 6.00 6744 Zh Ly | 500 ~ 6.00f 1.83 9.58
20 100kN/mM#%#BZ % -l -~ = -|3mxEZB| - ~ = = —| 100kN/M%E#B 22 = -~ = -|3m%EiEZ S -~ = = =
Zn Lo 1.00] 0.00 ~ 548 68.39| ZnList | 000 ~ 548| 1.73 9.05 Zh s 1.00f 500 ~ 6.00 68.39| #nList | 500 ~ 6.00f 1.73 9.05
21 100kN/mM##BZ % -l -~ = -|3mxEZB| - ~ = = -| 100kN/MZE#B 22 = -~ = -|3m%EiEZ S -~ = = =
ZnLst 1.00] 0.00 ~ 546 68.08| ZnList | 000 ~ 546| 1.68 8.84 Zh s 1.00f 500 ~ 6.00 68.08] ZnLis | 500 ~ 6.00[ 1.68 8.84
100kN/m#%#BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh LS ~ ZH s ~ ZhLst ~ Zh LS ~
100kN/mM#%#BZ % ~ ImEHEZD ~ 100kN/m%#8Z % ~ ImEEZD ~
Zh LS ~ Zh s ~ ZhLlst ~ Zh LS ~
100kN/m#%#BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh LS ~ Zh s ~ ZhLst ~ Zh LS ~
100kN/m%E#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ ZhLst ~ ZhLS ~
100kN/m%E#BZ % ~ IMEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ ZhLst ~ Zh LS ~
100kN/m%E#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ ZhLst ~ ZhLs ~
100kN/m%E#BZ % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ ZhLst ~ ZhLS ~
100kN/m#E#BZ % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
Zh LS ~ Zh s ~ ZhLst ~ Zh LS ~
100kN/m#E#BZ % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
ZThES ~ ZNLS ~ ZThLlst ~ TS ~ |
=FR



